I-A5a

1. Find the volume of the solid generated by revolving
the region bounded by f(x) = 2 — cosx and the T4
vertical lines x = 2 and x = 6 about the x-axis.
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2. Set-up a single integral to calculate the volume of the solid
generated when the region bounded by f(x) = x? — 2x and
g(x) = x is revolved around the axis y = 4. Then use a
calculator to find that volume.
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3. Let R be the region bounded by g(x) = e* and h(x) = %x + 1. Find the volume of the solid
formed by revolving R about the vertical)line x % 1. (Calc ok) r
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Let R be the first-quadrant region enclosed by

fx) =4 ’sin(?) and g/(x) = x2,

4.

Let R be the base of a solid whose cross-sections
perpendicular to the x-axis are semicircles. Find the
volume of this solid. (Calc ok)
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